7.5 Rationalizing Radicals Filled In.notebook

Quiz 7.4

1 (2 points) Add or subtract as indicated.
4/5-35+73/5 -85

2 (2 points) Add or subtract as indicated. Assume all variables are positive or zero.

V12x% +3x+/2 = 24/98x2

3 (2 points) Multiply and simplify. Assume all variables are positive or zero.

)

October 17, 2017

7.5 Rationalizing Radical Expressions

Rationalize the denominator of each expression:
Assume all variables are positive—
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What if the radical is greater then 2?

Rationalize the denominator of each expression:
Assume all variables are positive.
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Rationalizing a two term Denominator

You Try
Rationalize the denominator:

Assume all variables are positive.
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You Try Perform the indicated operation
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